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2
) =5
a8 W . t2)(68) — (3t2)(2) 24t
a (4 + t2)? (44 t2)2
y = e*sinx
ﬂ = (e*)(cosx) + (sinx)(e*) = e*(cos x + sinx)
27 dx
d?y
T e*(—sinx + cosx) + e*(cosx + sinx) = 2e*cosx
dy . o
Za — 2y = 2e*(cosx + sinx) — 2e*sinx
28 = 2e*cosx
_dy
~ dx?
r+n
cscl = -»r+h=rcsch
29
—- h=r(cscf—-1)

24




)

aaligh pghil ihgll S ol

National Center
for Curriculum Development

National Center for Curriculum Development

do

dh
— =1r(—cscHcoth)

- dh‘
de 3:%

= 6371 (— csc%cotg)

= 6371(—-2 x V3) ~ —22070 km/rad

1
f(x) —91nx+ﬁ

L1y —1(4x)
fix)=9 (E) B 4x*
L S (% |
31 =5
9x? —1
Bx—1)3x+1)
P'(2)=F(2)G'(2) + G(2)F'(2)
2 sy (4,3)5(2,2) AL ay 1) piianal) Jue G (2)
% i s ) ) g P2
1
P(2)=3x§+2x0=§
1 2
- G%(7) "’ 1 ~12

25



)

aaligl pghiil ibgll jSgll

National Center for Curriculum Development

y_l—e‘x 1—%
1+ex 1+e_1x
e*—1
34 :ex+1
dy (e*+1)(e*)—(e*—1)(e") 2e*
dx (e* + 1) T (e + 1)2
dy 2(1) 1
dxl,.o (1+DZ 2
Q\sun?g@a.\ae\zmj‘%zo O e by abie (i 2 Gulas g 13}
2 Al lidae il \;@J;_Aﬁymyxwgum‘yl@&gex > 008 eX =0
x+1
y=x—1
% ldy x-DO-Gx+DA) -2
dx (x—1)2 ~(x—1)?
x+1
R T amoR A — L)W sl Sy — 1
y+1
37 x=ﬁ
dx_ -2
dy (y—1)>
dx_ —2
dy  (y—1)?
B -2
2
38 e
-2 -2 (x — 1)? 1
= a2 & _ - 2 Ty
G=1) @i &

26




[ aaligll pghil  ihgll jSy0ll

-a_r‘&u- National Center for Curriculum Development
Inx
f(x) = 3
1
, xr* (;) —(Inx)(2x) 1-—-2Inx
f(x) = ] =—
x3 (— E) —(1-2Inx)(3x%
39 " - X
f (x) - 6
X
—5x2 4+ 6x%Inx
_ —5+6Inx
B xt

' (x) +4x3f (x) + 2x*f(x) + 1

—5+6Inx 1-2Inx Inx

40 :x4x—4+4x3x—3+2x2><—2+1
X X X

=—-54+6Inx+4—-8Inx+2Inx+1=0

27




e 2ol g s

.~ P o National Center for Curriculum Development !jac"‘zr.‘a'DSS{;,‘,S',
Aladed) 3astd sl gy yaly
41 daiua ppd) Alla
p(e) — 100
S 1+e3t
100e3!
P'(t) = —mm—m—
® (1 Tes—r)R
100
P,(3) — T = 25
p93/Wih 25 Jiway ol 3 day A jal) B 400 ) 33 gl ¢ff (g
43 daba agh (e 3R]
A f(x) = tan 3x?
f'(x) = 6xsec?(3x?)
fl(x)=1
f(x) =Incotx
c (x) = —cse?x
fal) = cotx
44 dada agd (a (3R]
2
f) =Y@r-1)2=(x*-1)5
C lrw=2te-nien-—
x) =—=(x*— X)) =
5 53/(x2 — 1)3
f(x) =+cosx
b £ —sinx
xX) =
2+/cosx

28



Imi aaligll pghiil ,ibgll jSgll # iﬁﬂ

-.._ré\_» National Center for Curriculum Development !ﬁ%"?rra'D?S::‘,S',

f@) = (nx)®
1
f'®) =500 0* (<)

c _ 5(n x)*
X

46 dsda Mm&éﬂ?

f(x) = cos?(7x3 + 6x — 1) = (cos(7x3 + 6x — 1))>

f'(x) = 2(cos(7x3 + 6x — 1)) (—sin(7x3 + 6x — 1)(21x* + 6))
= —2(21x% + 6) sin(7x>® + 6x — 1) cos(7x® + 6x — 1)
= —(21x% + 6) sin2(7x® + 6x — 1)

fx) =2+ @*+1)%3
b |f(x) =32+ @2+ 1)%)? (4(x2 4 1)3(2x))
= 24x(x? +1)3(2 + (% + 1)*)?

47 daiia agh (o (3R]

f(x)=2x+1)°(x3—x+1)*
f[(x)=2x+1)°@)(x® —x+1)33Bx%*-1)

5 + (2% —x+ 1)4(5)(2x + 1)*(2)
f'() = 3)P@1)3*(2) + (WGB3 (2) = 2754
(cos x)?
f) =~
, e%X x 2(cosx)!(—sinx) — (Cos x)2 X 2e2*
fl(x)= e
—sin2x — 2(cos x)?
b = er
2
—sinm — 2 COSE
PN
léubwh.d\ulc @agand) (oS Adag ‘gﬁi obaal) o) ‘_.5‘ 1@ (5 gha (ulaal) Jua

e i Al g

48 daiia agh (o i

29



[ aaligll pghil  ihgll jSy0ll

R National Center for Curriculum Development

i — @b 2x+1

) =8 e
Bx+4)(2)—(2x+1)(3)

a U'(x) = 80 X Ll + 4%
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f(x) =2"*cosmx
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‘ f'(x) = 4(tan(sec(cos x)))? sec?(sec(cos x)) X sec(cos x) tan(cos x)
18 X (—sinx)

= —4 tan®(sec(cos x)) sec?(sec(cos x)) sec(cos x) tan(cos x) sin x

f(X) = 46—0.5x2
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Su=2i—2(1+2i)=-2-2i
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